Lecture Notes (Italics = Handouts)

Inferences About a Difference in Means
Two Independent Samples
Sections 10.1 and 11.1
Comparing two populations or treatments.

Independent vs Dependent Samples (describe and discuss)

Facts: 
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N.B. this does not say that SD(X ( Y) = SD(X) + SD(Y)

Inferences about the difference in two means (independent samples) 
Assumptions: 
SRS’s from two populations.

  (page 490)
The samples are independent.




Populations normal or sample sizes “large”

Our estimator of 
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The sampling distribution of 
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Since when our assumptions are satisfied both 
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, and 
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So if (1 and (2 are unknown use 
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Without assuming that the population variances are equal, (“unpooled” t-procedures) 
For CI’s 
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 (see page 490)

For hypothesis tests 
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Degrees of freedom 

Option 1: Welsh-Satterthwaite’s formula (technology does it) (see on page 492)
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Option 2: Without technology use df = smaller of n1 – 1 and n2 – 1. (Avoid: this is way too conservative, giving a larger than necessary confidence interval or P-value)
We won’t use the “pooled” procedures where it is assumed (1 = (2
See commentary at the bottom of page 493.

If s1 ≈ s2, the procedures produce approximately the same results, if s1 not close to s2, the pooled procedure shouldn’t be used because it would be unlikely that (1 = (2.

(Difference in means (Navidi))
All computations can be done using TESTs on your calculator

Section 10.1: Exercises: 1 – 9, 15, 17 
Section 11.1: Exercises: 1 – 7, 13, 17
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